
MOUNTING INSTRUCTIONS

DESCRIPTIONID. PART QTY.

 SCREEN FOR 

YAMAHA MT125

Ref.: 7654

Screen

M5x1 nylon washer

Special screw M5x15 + interior thread M5x12

Special screw M5x13 + interior thread M5x11

Ø outer 15 x Ø inner 5x4 rubber washer

M5x14 ISO 7380 (black) Allen screw

M5x0,5 nylon washer

M5 ISO 7380 screw cap

1

4

2

2

4

4

4

4

1

4

3

2

5

6

7

8

https://www.motorcycleid.com/puig/


MOUNTING INSTRUCTIONS 

 SCREEN FOR 

YAMAHA MT125

3 4

1 2

1

1

2 2

3 3

4

6

8

7

57

6

4 4

4

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

